	Bid Tab 05-004H		R. B. Jergens Contractors,		Belgray, Inc.		Double Jay Construction, Inc		
Section Item List									
Line # Item	Description	Units	Est Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
10 201-1000	CLEARING AND GRUBBING INCLUDING TREE/STUMP REMOVAL (<12")	LUMP SUM	1.00	\$39,475.05	\$39,475.05	\$3,000.00	\$3,000.00	\$3,674.00	\$3,674.00
20 201-1100	TREE & STUMP REMOVAL, 12"-23"	EACH	7.00	\$1,544.82	\$10,813.74	\$1,550.00	\$10,850.00	\$1,352.00	\$9,464.00
30 202-1010	PIPE REMOVED (>8")	FOOT	33.00	\$46.71	\$1,541.43	\$13.00	\$429.00	\$10.25	\$338.25
40 202-1100	CATCH BASIN OR INLET REMOVED	EACH	1.00	\$322.91	\$322.91	\$425.00	\$425.00	\$299.00	\$299.00
50 202-1300	TRENCH DRAIN REMOVED	FOOT	24.00	\$79.15	\$1,899.60	\$33.00	\$792.00	\$15.00	\$360.00
60 202-2000	CONCRETE CURB REMOVED	FOOT	580.00	\$3.68	\$2,134.40	\$9.00	\$5,220.00	\$10.45	\$6,061.00
70 202-2100	CONCRETE CURB AND GUTTER REMOVED	FOOT	74.00	\$3.68	\$272.32	\$11.00	\$814.00	\$15.25	\$1,128.50
80 202-3020	CONCRETE FLATWORK REMOVED (9" & UNDER)	SF	10,525.00	\$1.91	\$20,102.75	\$1.60	\$16,840.00	\$1.40	\$14,735.00
90 202-3400	ROADWAY PAVEMENT REMOVED	SY	251.00	\$15.90	\$3,990.90	\$12.50	\$3,137.50	\$11.05	\$2,773.55
100 203A-1100	EXCAVATION, INCLUDING ASPHALT CONCRETE AND PIPE < 8"	CY	421.00	\$16.00	\$6,736.00	\$50.00	\$21,050.00	\$23.55	\$9,914.55
110 203A-2000	EMBANKMENT	CY	297.00	\$8.07	\$2,396.79	\$40.00	\$11,880.00	\$20.75	\$6,162.75
120 304-1000	AGGREGATE BASE	TON	53.00	\$40.37	\$2,139.61	\$90.00	\$4,770.00	\$33.25	\$1,762.25
130 407-2000	NON-TRACKING TACK COAT	GAL	32.00	\$3.73	\$119.36	\$5.00	\$160.00	\$44.00	\$1,408.00
140 441-1150	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (449), PG 64-22, DRIVEWAYS	TON	27.00	\$526.23	\$14,208.21	\$200.00	\$5,400.00	\$409.45	\$11,055.15
150 452-1000	CONCRETE PAVEMENT, 6"	SF	250.00	\$11.52	\$2,880.00	\$12.00	\$3,000.00	\$16.70	\$4,175.00
160 607-5000	CONSTRUCTION FENCE	FOOT	450.00	\$5.97	\$2,686.50	\$3.50	\$1,575.00	\$5.25	\$2,362.50
170 608A-1000	4" CONCRETE SIDEWALK	SF	10,746.00	\$5.23	\$56,201.58	\$7.50	\$80,595.00	\$5.80	\$62,326.80
180 608A-2001	6" CONCRETE SIDEWALK, AS PER PLAN	SF	1,220.00	\$8.48	\$10,345.60	\$10.00	\$12,200.00	\$8.70	\$10,614.00
190 608A-2062	6" CONCRETE DRIVE APPROACH REPAIR, AS PER PLAN	SF	803.00	\$9.16	\$7,355.48	\$10.00	\$8,030.00	\$8.80	\$7,066.40
200 608A-3001	6" CONCRETE CURB RAMP, AS PER PLAN	SF	1,248.00	\$15.16	\$18,919.68	\$21.00	\$26,208.00	\$10.40	\$12,979.20
210 608A-3082	DETECTABLE WARNING	SF	226.00	\$31.71	\$7,166.46	\$33.00	\$7,458.00	\$25.35	\$5,729.10
220 608B-1301	6" CONCRETE DRIVEWAY, AS PER PLAN	SF	1,081.00	\$9.25	\$9,999.25	\$10.00	\$10,810.00	\$8.70	\$9,404.70
	KETTERING TYPE B CONCRETE CURB AND GUTTER, INCLUDING		74.00	\$45.86	\$3,393.64	\$60.00	\$4,440.00	\$49.95	\$3,696.30
230 609-1151	RESTORATION, AS PER PLAN	FOOT	74.00	φ45.00	φ3,393.0 4	φου.υυ	φ 4 ,440.00	φ49.95	φ3,090.30
240 609-1351	ODOT TYPE 6 CONCRETE BARRIER CURB, INCLUDING RESTORATION, AS PER PLAN	FOOT	719.00	\$36.78	\$26,444.82	\$38.00	\$27,322.00	\$42.45	\$30,521.55
250 611-1000	CATCH BASIN, TYPE 2-2B	EACH	2.00	\$2,135.26	\$4,270.52	\$1,600.00	\$3,200.00	\$1,720.00	\$3,440.00
260 611-2826	MANHOLE ADJUSTED TO GRADE, TYPE 2B	EACH	3.00	\$653.32	\$1,959.96	\$500.00	\$1,500.00	\$393.00	\$1,179.00
270 611-4110	10" CONDUIT, ADS N-12 OR APPROVED EQUAL	FOOT	15.00	\$96.93	\$1,453.95	\$64.00	\$960.00	\$49.30	\$739.50
280 611-4122	12" CONDUIT, ADS N-12 OR APPROVED EQUAL, AS PER PLAN	FOOT	33.00	\$56.32	\$1,858.56	\$60.00	\$1,980.00	\$106.40	\$3,511.20
290 611-7221	12" SLOTTED DRAIN, ODOT TYPE 2, AS PER PLAN	FOOT	30.00	\$279.21	\$8,376.30	\$500.00	\$15,000.00	\$368.00	\$11,040.00
300 614-1001	MAINTAINING TRAFFIC, AS PER PLAN	LUMP SUM	1.00	\$35,684.64	\$35,684.64	\$17,000.00	\$17,000.00	\$34,230.40	\$34,230.40
310 623-2010	MONUMENT ASSEMBLY, TYPE C, AS PER PLAN	EACH	4.00	\$1,409.56	\$5,638.24	\$1,500.00	\$6,000.00	\$1,267.00	\$5,068.00
320 625-7000	GROUND ROD	EACH	11.00	\$286.00	\$3,146.00	\$275.00	\$3,025.00	\$302.00	\$3,322.00
330 625-0070	CONNECTION, FUSED PULL APART	EACH	4.00	\$113.88	\$455.52	\$109.50	\$438.00	\$120.00	\$480.00
340 625-0080	CONNECTION, UNFUSED PULL APART	EACH	2.00	\$113.88	\$227.76	\$109.50	\$219.00	\$120.00	\$240.00
350 625-0090	CONNECTION, UNFUSED PERMANENT	EACH	2.00	\$103.48	\$206.96	\$99.50	\$199.00	\$110.00	\$220.00
360 625-1401	LIGHT POLE FOUNDATION, 24" x 8' DEEP, AS PER PLAN	EACH	1.00	\$2,333.73	\$2,333.73	\$2,244.00	\$2,244.00	\$2,468.00	\$2,468.00
370 625-3132	RISER, RIGID METAL, WITH WEATHERHEAD, 2"	EACH	1.00	\$146.64	\$146.64	\$1,141.00	\$1,141.00	\$1,255.00	\$1,255.00
380 625-2042	NO 10 AWG POLE AND BRACKET CABLE	FOOT	150.00	\$2.65	\$397.50	\$2.55	\$382.50	\$2.80	\$420.00
390 625-1010	LIGHT POLE, CONVENTIONAL TRUSS ARM, AS PER PLAN	EACH	1.00	\$6,120.32	\$6,120.32	\$5,885.00	\$5,885.00	\$6,474.00	\$6,474.00
400 632-5031	POWER CABLE, 3-CONDUCTOR, #10 AWG	FOOT	50.00	\$3.80	\$190.00	\$3.65	\$182.50	\$4.00	\$200.00
410 625-3121	CONDUIT RIGID METAL, 2", 725.04, AS PER PLAN	FOOT	50.00	\$31.56	\$1,578.00	\$30.35	\$1,517.50	\$33.40	\$1,670.00
410 020-3121	OUNDOIT MOID WILLIAL, Z , 120.04, AO FER FLAIN	1 001	50.00	φυ1.00	φ1,570.00	φου.οο	φ1,517.50	ψυυ.40	φ1,070.00

		Bid Tab 05-004H			R. B. Jergens	Contractors,	Belgray, Inc.		Double Jay Construction, Inc	
Section	Item List									
Line #	Item	Description	Units	Est Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
420	625-3524	CONDUIT, JACKED OR DRILLED, 725.052, 2", AS PER PLAN	FOOT	100.00	\$36.92	\$3,692.00	\$35.50	\$3,550.00	\$39.05	\$3,905.00
430	625-6501	LUMINAIRE, CONVENTIONAL, SOLID STATE, (LED), AS PER PLAN	EACH	2.00	\$846.55	\$1,693.10	\$814.00	\$1,628.00	\$895.00	\$1,790.00
440	625-5181	PULLBOX, 725.08, 18" x 18", AS PER PLAN	EACH	2.00	\$869.43	\$1,738.86	\$836.00	\$1,672.00	\$920.00	\$1,840.00
	625-7300	PLASTIC CAUTION TAPE	FOOT	200.00	\$2.08	\$416.00	\$2.00	\$400.00	\$2.20	\$440.00
460	625-8001	POWER SERVICE, AS PER PLAN	EACH	1.00	\$9,014.61	\$9,014.61	\$8,668.00	\$8,668.00	\$9,535.00	\$9,535.00
470	630-1040	SIGN, FLAT SHEET	SF	165.00	\$18.72	\$3,088.80	\$18.00	\$2,970.00	\$19.80	\$3,267.00
	630-1050	GROUND MOUNTED SUPPORT, NO. 3 POST	FOOT	180.00	\$11.44	\$2,059.20	\$11.00	\$1,980.00	\$12.10	\$2,178.00
	632-1810	PEDESTAL FOUNDATION	EACH	8.00	\$1,052.47	\$8,419.76	\$1,012.00	\$8,096.00	\$1,113.00	\$8,904.00
500	644-1110	EDGE LINE, 4", YELLOW	MILE	0.01	\$28,599.64	\$286.00	\$39,920.00	\$399.20	\$11,650.00	\$116.50
	644-1500	CENTER LINE, 4" DOUBLE YELLOW SOLID	MILE	0.02	\$52,155.34	\$1,043.11	\$42,145.00	\$842.90	\$17,650.00	\$353.00
520	644-2200	CROSSWALK LINE, 12"	FOOT	90.00	\$4.68	\$421.20	\$5.80	\$522.00	\$5.50	\$495.00
530	644-2210	CROSSWALK LINE, 24"	FOOT	100.00	\$9.36	\$936.00	\$6.80	\$680.00	\$11.00	\$1,100.00
	644-2600	YIELD LINE, 24"	FOOT	45.00	\$22.31	\$1,003.95	\$9.30	\$418.50	\$11.00	\$495.00
	653-0300	TOPSOIL FURNISHED AND PLACED, 4" DEPTH	TON	313.00	\$41.78	\$13,077.14	\$60.00	\$18,780.00	\$49.55	\$15,509.15
	659-0100	SEEDING AND MULCHING	SY	2,658.00	\$1.56	\$4,146.48	\$2.00	\$5,316.00	\$2.90	\$7,708.20
	832-0100	STORM WATER POLLUTION PREVENTION PLAN, PER ODOT SS 832	LUMP SUM		\$1,559.98	\$1,559.98	\$6,500.00	\$6,500.00	\$1,430.00	\$1,430.00
	832-0150	STORM WATER POLLUTION PREVENTION INSPECTIONS	LUMP SUM	1.00	\$6,239.92	\$6,239.92	\$2,400.00	\$2,400.00	\$6,545.00	\$6,545.00
	832-0200	SEDIMENT AND EROSION CONTROL, PER ODOT SS 832	EACH	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
	901-6370	WATER VALVE ADJUSTED TO GRADE	EACH	2.00	\$611.44	\$1,222.88	\$500.00	\$1,000.00	\$197.00	\$394.00
610	SPEC-0900	BENCH, FIXIT STATION, SHELTER, BIKE RACK, ETC, AS PER PLAN	EACH	1.00	\$21,720.15	\$21,720.15	\$31,955.40	\$31,955.40	\$21,354.00	\$21,354.00
620	625-4005	TRENCHED IN PAVED AREA	FOOT	50.00	\$36.92	\$1,846.00	\$35.50	\$1,775.00	\$39.05	\$1,952.50
630	630-1035	SIGNING MISC.: SOLAR POWERED AND WIRELESS RECTANGULAR RAPID FLASHING BEACON (RRFB) SIGN ASSEMBLY	EACH	8.00	\$4,827.62	\$38,620.96	\$4,700.00	\$37,600.00	\$5,106.00	\$40,848.00
					Total:	\$452,836.78	Total:	\$469,432.00	Total:	\$429,128.00
		Signed: LJ DeWeese Co, Inc								

	Bid Tab 05-004H			Outdoor I	Enterprise	Brumbaugh Construction,		L.J. DeWeese Co., Inc.	
Section Item List									
Line # Item	Description	Units	Est Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
10 201-1000	CLEARING AND GRUBBING INCLUDING TREE/STUMP REMOVAL (<12")	LUMP SUM	1.00	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00	\$9,500.00	\$9,500.00
20 201-1100	TREE & STUMP REMOVAL, 12"-23"	EACH	7.00	\$700.00	\$4,900.00	\$800.00	\$5,600.00	\$800.00	\$5,600.00
30 202-1010	PIPE REMOVED (>8")	FOOT	33.00	\$18.00	\$594.00	\$25.00	\$825.00	\$10.00	\$330.00
40 202-1100	CATCH BASIN OR INLET REMOVED	EACH	1.00	\$400.00	\$400.00	\$350.00	\$350.00	\$400.00	\$400.00
50 202-1300	TRENCH DRAIN REMOVED	FOOT	24.00	\$34.00	\$816.00	\$15.00	\$360.00	\$15.00	\$360.00
60 202-2000	CONCRETE CURB REMOVED	FOOT	580.00	\$5.00	\$2,900.00	\$7.00	\$4,060.00	\$6.00	\$3,480.00
70 202-2100	CONCRETE CURB AND GUTTER REMOVED	FOOT	74.00	\$6.00	\$444.00	\$8.00	\$592.00	\$8.00	\$592.00
80 202-3020	CONCRETE FLATWORK REMOVED (9" & UNDER)	SF	10,525.00	\$1.20	\$12,630.00	\$1.00	\$10,525.00	\$2.00	\$21,050.00
90 202-3400	ROADWAY PAVEMENT REMOVED	SY	251.00	\$15.00	\$3,765.00	\$20.00	\$5,020.00	\$27.00	\$6,777.00
100 203A-1100	EXCAVATION, INCLUDING ASPHALT CONCRETE AND PIPE < 8"	CY	421.00	\$24.00	\$10,104.00	\$17.00	\$7,157.00	\$25.00	\$10,525.00
110 203A-1100 110 203A-2000	EMBANKMENT	CY	297.00	\$26.00	\$7,722.00	\$17.00	\$5,049.00	\$25.00	\$7,425.00
120 304-1000	AGGREGATE BASE	TON	53.00	\$55.00	\$2,915.00	\$50.00	\$2,650.00	\$55.00	\$2,915.00
	NON-TRACKING TACK COAT	GAL						•	
130 407-2000	NON-TRACKING TACK COAT	GAL	32.00	\$22.00	\$704.00	\$20.00	\$640.00	\$5.00	\$160.00
140 441-1150	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (449), PG 64-22, DRIVEWAYS	TON	27.00	\$370.00	\$9,990.00	\$375.00	\$10,125.00	\$300.00	\$8,100.00
150 452-1000	CONCRETE PAVEMENT, 6"	SF	250.00	\$10.00	\$2,500.00	\$6.00	\$1,500.00	\$9.00	\$2,250.00
160 607-5000	CONSTRUCTION FENCE	FOOT	450.00	\$3.60	\$1,620.00	\$4.00	\$1,800.00	\$4.00	\$1,800.00
170 608A-1000	4" CONCRETE SIDEWALK	SF	10,746.00	\$7.00	\$75,222.00	\$7.00	\$75,222.00	\$6.00	\$64,476.00
180 608A-2001	6" CONCRETE SIDEWALK, AS PER PLAN	SF	1,220.00	\$11.00	\$13,420.00	\$9.00	\$10,980.00	\$9.00	\$10,980.00
190 608A-2062	6" CONCRETE DRIVE APPROACH REPAIR, AS PER PLAN	SF	803.00	\$11.00	\$8,833.00	\$15.00	\$12,045.00	\$9.00	\$7,227.00
200 608A-3001	6" CONCRETE CURB RAMP, AS PER PLAN	SF	1,248.00	\$12.00	\$14,976.00	\$12.00	\$14,976.00	\$15.00	\$18,720.00
210 608A-3082	DETECTABLE WARNING	SF	226.00	\$55.00	\$12,430.00	\$30.00	\$6,780.00	\$45.00	\$10,170.00
220 608B-1301	6" CONCRETE DRIVEWAY, AS PER PLAN	SF	1,081.00	\$11.00	\$11,891.00	\$10.00	\$10,810.00	\$9.00	\$9,729.00
	KETTERING TYPE B CONCRETE CURB AND GUTTER, INCLUDING		74.00	<u></u>	ΦE 020 00	¢75.00	¢5 550 00	¢50.00	
230 609-1151	RESTORATION, AS PER PLAN	FOOT	74.00	\$80.00	\$5,920.00	\$75.00	\$5,550.00	\$50.00	\$3,700.00
	ODOT TYPE 6 CONCRETE BARRIER CURB, INCLUDING RESTORATION, AS PER		719.00	\$60.00	\$43,140.00	\$50.00	\$35,950.00	\$45.00	\$32,355.00
240 609-1351	PLAN	FOOT				-	•		
250 611-1000	CATCH BASIN, TYPE 2-2B	EACH	2.00	\$2,700.00	\$5,400.00	\$1,800.00	\$3,600.00	\$1,800.00	\$3,600.00
260 611-2826	MANHOLE ADJUSTED TO GRADE, TYPE 2B	EACH	3.00	\$1,000.00	\$3,000.00	\$600.00	\$1,800.00	\$500.00	\$1,500.00
270 611-4110	10" CONDUIT, ADS N-12 OR APPROVED EQUAL	FOOT	15.00	\$40.00	\$600.00	\$46.00	\$690.00	\$60.00	\$900.00
280 611-4122	12" CONDUIT, ADS N-12 OR APPROVED EQUAL, AS PER PLAN	FOOT	33.00	\$120.00	\$3,960.00	\$50.00	\$1,650.00	\$65.00	\$2,145.00
290 611-7221	12" SLOTTED DRAIN, ODOT TYPE 2, AS PER PLAN	FOOT	30.00	\$375.00	\$11,250.00	\$52.00	\$1,560.00	\$255.00	\$7,650.00
300 614-1001	MAINTAINING TRAFFIC, AS PER PLAN	LUMP SUM	1.00	\$15,000.00	\$15,000.00	\$44,419.00	\$44,419.00	\$21,000.00	\$21,000.00
310 623-2010	MONUMENT ASSEMBLY, TYPE C, AS PER PLAN	EACH	4.00	\$550.00	\$2,200.00	\$600.00	\$2,400.00	\$750.00	\$3,000.00
320 625-7000	GROUND ROD	EACH	11.00	\$300.00	\$3,300.00	\$300.00	\$3,300.00	\$300.00	\$3,300.00
330 625-0070	CONNECTION, FUSED PULL APART	EACH	4.00	\$120.00	\$480.00	\$125.00	\$500.00	\$125.00	\$500.00
340 625-0080	CONNECTION, UNFUSED PULL APART	EACH	2.00	\$120.00	\$240.00	\$125.00	\$250.00	\$125.00	\$250.00
350 625-0090	CONNECTION, UNFUSED PERMANENT	EACH	2.00	\$110.00	\$220.00	\$110.00	\$220.00	\$110.00	\$220.00
360 625-1401	LIGHT POLE FOUNDATION, 24" x 8' DEEP, AS PER PLAN	EACH	1.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
370 625-3132	RISER, RIGID METAL, WITH WEATHERHEAD, 2"	EACH	1.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,250.00	\$1,250.00
380 625-2042	NO 10 AWG POLE AND BRACKET CABLE	FOOT	150.00	\$2.80	\$420.00	\$3.00	\$450.00	\$2.75	\$412.50
390 625-1010	LIGHT POLE, CONVENTIONAL TRUSS ARM, AS PER PLAN	EACH	1.00	\$6,500.00	\$6,500.00	\$6,600.00	\$6,600.00	\$6,500.00	\$6,500.00
400 632-5031	POWER CABLE, 3-CONDUCTOR, #10 AWG	FOOT	50.00	\$4.00	\$200.00	\$4.00	\$200.00	\$4.00	\$200.00
410 625-3121	CONDUIT RIGID METAL, 2", 725.04, AS PER PLAN	FOOT	50.00	\$33.00	\$1,650.00	\$34.00	\$1,700.00	\$32.00	\$1,600.00
		1. 001	55.55	Ψ00.00	ψ.,σσσ.σσ	Ψ0 1.00	Ψ 1,1 30.00	Ψ0=.00	ψ.,000.00

	Bid Tab 05-004H			Outdoor Enterprise		Brumbaugh (Construction,	L.J. DeWeese Co., Inc.	
Section Item List									
ine # Item	Description	Units	Est Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
420 625-3524	CONDUIT, JACKED OR DRILLED, 725.052, 2", AS PER PLAN	FOOT	100.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$38.00	\$3,800.00
430 625-6501	LUMINAIRE, CONVENTIONAL, SOLID STATE, (LED), AS PER PLAN	EACH	2.00	\$900.00	\$1,800.00	\$900.00	\$1,800.00	\$850.00	\$1,700.00
440 625-5181	PULLBOX, 725.08, 18" x 18", AS PER PLAN	EACH	2.00	\$920.00	\$1,840.00	\$950.00	\$1,900.00	\$875.00	\$1,750.00
450 625-7300	PLASTIC CAUTION TAPE	FOOT	200.00	\$2.00	\$400.00	\$2.00	\$400.00	\$2.20	\$440.00
460 625-8001	POWER SERVICE, AS PER PLAN	EACH	1.00	\$9,500.00	\$9,500.00	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00
470 630-1040	SIGN, FLAT SHEET	SF	165.00	\$20.00	\$3,300.00	\$20.00	\$3,300.00	\$20.00	\$3,300.00
480 630-1050	GROUND MOUNTED SUPPORT, NO. 3 POST	FOOT	180.00	\$12.00	\$2,160.00	\$12.00	\$2,160.00	\$12.00	\$2,160.00
490 632-1810	PEDESTAL FOUNDATION	EACH	8.00	\$1,100.00	\$8,800.00	\$1,200.00	\$9,600.00	\$1,100.00	\$8,800.00
500 644-1110	EDGE LINE, 4", YELLOW	MILE	0.01	\$30,000.00	\$300.00	\$30,000.00	\$300.00	\$30,000.00	\$300.00
510 644-1500	CENTER LINE, 4" DOUBLE YELLOW SOLID	MILE	0.02	\$55,000.00	\$1,100.00	\$55,000.00	\$1,100.00	\$55,000.00	\$1,100.00
520 644-2200	CROSSWALK LINE, 12"	FOOT	90.00	\$5.00	\$450.00	\$5.00	\$450.00	\$5.00	\$450.00
530 644-2210	CROSSWALK LINE, 24"	FOOT	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$9.50	\$950.00
540 644-2600	YIELD LINE, 24"	FOOT	45.00	\$24.00	\$1,080.00	\$25.00	\$1,125.00	\$23.00	\$1,035.00
550 653-0300	TOPSOIL FURNISHED AND PLACED, 4" DEPTH	TON	313.00	\$28.00	\$8,764.00	\$45.00	\$14,085.00	\$20.00	\$6,260.00
560 659-0100	SEEDING AND MULCHING	SY	2,658.00	\$2.00	\$5,316.00	\$2.50	\$6,645.00	\$2.00	\$5,316.00
570 832-0100	STORM WATER POLLUTION PREVENTION PLAN, PER ODOT SS 832	LUMP SUM	1.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
580 832-0150	STORM WATER POLLUTION PREVENTION INSPECTIONS	LUMP SUM	1.00	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00
590 832-0200	SEDIMENT AND EROSION CONTROL, PER ODOT SS 832	EACH	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
600 901-6370	WATER VALVE ADJUSTED TO GRADE	EACH	2.00	\$175.00	\$350.00	\$400.00	\$800.00	\$275.00	\$550.00
610 SPEC-0900	BENCH, FIXIT STATION, SHELTER, BIKE RACK, ETC, AS PER PLAN	EACH	1.00	\$32,000.00	\$32,000.00	\$22,000.00	\$22,000.00	\$25,000.00	\$25,000.00
620 625-4005	TRENCHED IN PAVED AREA	FOOT	50.00	\$100.00	\$5,000.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00
630 630-1035	SIGNING MISC.: SOLAR POWERED AND WIRELESS RECTANGULAR RAPID FLASHING BEACON (RRFB) SIGN ASSEMBLY	EACH	8.00	\$5,100.00	\$40,800.00	\$5,000.00	\$40,000.00	\$4,850.00	\$38,800.00
				Total:	\$450,716.00	Total:	\$440,770.00	Total:	\$413,859.50
	Signed: LJ DeWeese Co, Inc								

	Bid Tab 05-004H			Performa	nce Site	Engineers Estimate	
Section Item List							
Line # Item	Description	Units	Est Quantity	Unit Price	Extension		
10 201-1000	CLEARING AND GRUBBING INCLUDING TREE/STUMP REMOVAL (<12")	LUMP SUM	1.00	\$12,150.00	\$12,150.00	\$10,000.00	
20 201-1100	TREE & STUMP REMOVAL, 12"-23"	EACH	7.00	\$1,495.12	\$10,465.84	\$1,500.00	\$10,500.00
30 202-1010	PIPE REMOVED (>8")	FOOT	33.00	\$35.00	\$1,155.00	\$25.00	\$825.00
40 202-1100	CATCH BASIN OR INLET REMOVED	EACH	1.00	\$475.00	\$475.00	\$650.00	\$650.00
50 202-1300	TRENCH DRAIN REMOVED	FOOT	24.00	\$48.00	\$1,152.00	\$20.00	\$480.00
60 202-2000	CONCRETE CURB REMOVED	FOOT	580.00	\$7.45	\$4,321.00	\$11.00	\$6,380.00
70 202-2100	CONCRETE CURB AND GUTTER REMOVED	FOOT	74.00	\$8.00	\$592.00	\$16.00	\$1,184.00
80 202-3020	CONCRETE FLATWORK REMOVED (9" & UNDER)	SF	10,525.00	\$2.25	\$23,681.25	\$3.00	\$31,575.00
90 202-3400	ROADWAY PAVEMENT REMOVED	SY	251.00	\$5.75	\$1,443.25	\$50.00	\$12,550.00
100 203A-1100	EXCAVATION, INCLUDING ASPHALT CONCRETE AND PIPE < 8"	CY	421.00	\$25.00	\$10,525.00	\$30.00	\$12,630.00
110 203A-2000	EMBANKMENT	CY	297.00	\$28.00	\$8,316.00	\$35.00	\$10,395.00
120 304-1000	AGGREGATE BASE	TON	53.00	\$75.00	\$3,975.00	\$50.00	\$2,650.00
130 407-2000	NON-TRACKING TACK COAT	GAL	32.00	\$51.77	\$1,656.64	\$3.00	\$96.00
140 441-1150	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (449), PG 64-22, DRIVEWAYS	TON	27.00	\$517.67	\$13,977.09	\$175.00	\$4,725.00
150 452-1000	CONCRETE PAVEMENT, 6"	SF	250.00	\$11.50	\$2,875.00	\$8.00	\$2,000.00
160 607-5000	CONSTRUCTION FENCE	FOOT	450.00	\$5.00	\$2,250.00	\$2.00	\$900.00
170 608A-1000	4" CONCRETE SIDEWALK	SF	10,746.00	\$7.25	\$77,908.50	\$7.50	\$80,595.00
180 608A-2001	6" CONCRETE SIDEWALK, AS PER PLAN	SF	1,220.00	\$8.50	\$10,370.00	\$9.00	\$10,980.00
190 608A-2062	6" CONCRETE DRIVE APPROACH REPAIR, AS PER PLAN	SF	803.00	\$11.75	\$9,435.25	\$9.00	\$7,227.00
200 608A-3001	6" CONCRETE CURB RAMP, AS PER PLAN	SF	1,248.00	\$12.00	\$14,976.00	\$10.00	\$12,480.00
210 608A-3082	DETECTABLE WARNING	SF	226.00	\$14.40	\$3,254.40	\$45.00	\$10,170.00
220 608B-1301	6" CONCRETE DRIVEWAY, AS PER PLAN	SF	1,081.00	\$11.75	\$12,701.75	\$9.00	\$9,729.00
	KETTERING TYPE B CONCRETE CURB AND GUTTER, INCLUDING		·	•	•		
230 609-1151	RESTORATION, AS PER PLAN	FOOT	74.00	\$48.00	\$3,552.00	\$40.00	\$2,960.00
240 609-1351	ODOT TYPE 6 CONCRETE BARRIER CURB, INCLUDING RESTORATION, AS PER PLAN	FOOT	719.00	\$38.00	\$27,322.00	\$40.00	\$28,760.00
250 611-1000	CATCH BASIN, TYPE 2-2B	EACH	2.00	\$1,560.00	\$3,120.00	\$1,500.00	\$3,000.00
260 611-2826	MANHOLE ADJUSTED TO GRADE, TYPE 2B	EACH	3.00	\$340.00	\$1,020.00	\$750.00	\$2,250.00
270 611-4110	10" CONDUIT, ADS N-12 OR APPROVED EQUAL	FOOT	15.00	\$72.00	\$1,080.00	\$50.00	\$750.00
280 611-4122	12" CONDUIT, ADS N-12 OR APPROVED EQUAL, AS PER PLAN	FOOT	33.00	\$79.00	\$2,607.00	\$70.00	\$2,310.00
290 611-7221	12" SLOTTED DRAIN, ODOT TYPE 2, AS PER PLAN	FOOT	30.00	\$475.00	\$14,250.00	\$150.00	\$4,500.00
300 614-1001	MAINTAINING TRAFFIC, AS PER PLAN	LUMP SUM	1.00	\$18,750.00	\$18,750.00	\$63,573.00	
310 623-2010	MONUMENT ASSEMBLY, TYPE C, AS PER PLAN	EACH	4.00	\$1,775.00	\$7,100.00	\$500.00	\$2,000.00
320 625-7000	GROUND ROD	EACH	11.00	\$297.00	\$3,267.00	\$225.00	\$2,475.00
	CONNECTION, FUSED PULL APART	EACH		\$118.25			\$400.00
330 625-0070			4.00	•	\$473.00	\$100.00	
340 625-0080	CONNECTION, UNFUSED PULL APART	EACH	2.00	\$118.25	\$236.50	\$100.00	\$200.00
350 625-0090	CONNECTION, UNFUSED PERMANENT	EACH	2.00	\$107.50	\$215.00	\$100.00	\$200.00
360 625-1401	LIGHT POLE FOUNDATION, 24" x 8' DEEP, AS PER PLAN	EACH	1.00	\$2,423.50	\$2,423.50	\$2,000.00	\$2,000.00
370 625-3132	RISER, RIGID METAL, WITH WEATHERHEAD, 2"	EACH	1.00	\$1,232.00	\$1,232.00	\$450.00	\$450.00
380 625-2042	NO 10 AWG POLE AND BRACKET CABLE	FOOT	150.00	\$2.75	\$412.50	\$4.00	\$600.00
390 625-1010	LIGHT POLE, CONVENTIONAL TRUSS ARM, AS PER PLAN	EACH	1.00	\$6,355.00	\$6,355.00	\$5,000.00	\$5,000.00
400 632-5031	POWER CABLE, 3-CONDUCTOR, #10 AWG	FOOT	50.00	\$4.00	\$200.00	\$4.00	\$200.00
410 625-3121	CONDUIT RIGID METAL, 2", 725.04, AS PER PLAN	FOOT	50.00	\$32.80	\$1,640.00	\$50.00	\$2,500.00

	Bid Tab 05-004H			Performa	ance Site	Engineers Estimate		
Section Item List								
Line # Item	Description	Units	Est Quantity	Unit Price	Extension			
420 625-3524	CONDUIT, JACKED OR DRILLED, 725.052, 2", AS PER PLAN	FOOT	100.00	\$38.84	\$3,884.00	\$75.00	\$7,500.00	
430 625-6501	LUMINAIRE, CONVENTIONAL, SOLID STATE, (LED), AS PER PLAN	EACH	2.00	\$880.00	\$1,760.00	\$850.00	\$1,700.00	
440 625-5181	PULLBOX, 725.08, 18" x 18", AS PER PLAN	EACH	2.00	\$903.00	\$1,806.00	\$850.00	\$1,700.00	
450 625-7300	PLASTIC CAUTION TAPE	FOOT	200.00	\$2.16	\$432.00	\$1.00	\$200.00	
460 625-8001	POWER SERVICE, AS PER PLAN	EACH	1.00	\$9,365.00	\$9,365.00	\$10,000.00	\$10,000.00	
470 630-1040	SIGN, FLAT SHEET	SF	165.00	\$19.50	\$3,217.50	\$35.00	\$5,775.00	
480 630-1050	GROUND MOUNTED SUPPORT, NO. 3 POST	FOOT	180.00	\$12.00	\$2,160.00	\$35.00	\$6,300.00	
490 632-1810	PEDESTAL FOUNDATION	EACH	8.00	\$1,093.00	\$8,744.00	\$1,200.00	\$9,600.00	
500 644-1110	EDGE LINE, 4", YELLOW	MILE	0.01	\$43,115.00	\$431.15	\$10,000.00	\$100.00	
510 644-1500	CENTER LINE, 4" DOUBLE YELLOW SOLID	MILE	0.02	\$45,516.00	\$910.32	\$10,000.00	\$200.00	
520 644-2200	CROSSWALK LINE, 12"	FOOT	90.00	\$6.25	\$562.50	\$4.00	\$360.00	
530 644-2210	CROSSWALK LINE, 24"	FOOT	100.00	\$8.50	\$850.00	\$8.00	\$800.00	
540 644-2600	YIELD LINE, 24"	FOOT	45.00	\$12.00	\$540.00	\$10.00	\$450.00	
550 653-0300	TOPSOIL FURNISHED AND PLACED, 4" DEPTH	TON	313.00	\$38.00	\$11,894.00	\$60.00	\$18,780.00	
560 659-0100	SEEDING AND MULCHING	SY	2,658.00	\$10.00	\$26,580.00	\$2.00	\$5,316.00	
570 832-0100	STORM WATER POLLUTION PREVENTION PLAN, PER ODOT SS 832	LUMP SUM	1.00	\$2,250.00	\$2,250.00	\$5,000.00	\$5,000.00	
580 832-0150	STORM WATER POLLUTION PREVENTION INSPECTIONS	LUMP SUM	1.00	\$1,200.00	\$1,200.00	\$5,000.00	\$5,000.00	
590 832-0200	SEDIMENT AND EROSION CONTROL, PER ODOT SS 832	EACH	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
600 901-6370	WATER VALVE ADJUSTED TO GRADE	EACH	2.00	\$300.00	\$600.00	\$200.00	\$400.00	
610 SPEC-0900	BENCH, FIXIT STATION, SHELTER, BIKE RACK, ETC, AS PER PLAN	EACH	1.00	\$36,650.00	\$36,650.00	\$25,000.00	\$25,000.00	
620 625-4005	TRENCHED IN PAVED AREA	FOOT	50.00	\$38.20	\$1,910.00	\$60.00	\$3,000.00	
630 630-1035	SIGNING MISC.: SOLAR POWERED AND WIRELESS RECTANGULAR RAPID FLASHING BEACON (RRFB) SIGN ASSEMBLY	EACH	8.00	\$5,015.00	\$40,120.00	\$8,000.00	\$64,000.00	
				Total:	\$483,777.94		\$475,000.0	
	Signed: LJ DeWeese Co, Inc							